TCM2K Al2|=

2 CSHUR|H/CE : HEL57
FEWE : @20, @25, @32, J40

[ AEARIH(ZES|MYR])

H AP 7 Ee

25
[2) A
B:7|2¥

S8 2 HIAE
(otk 22H[AY
(HES ERL2E
CRES EQL2E
c2HHIA LHE
BZ : COMPACT(2AZIE)7|=¢
FZ:COMPACT(EAZE)ZHX|H
UZ.COMPACT(2AZ E)ER{LI2F

g2
20 : 20mm
25 :25mm
32 :32mm
40 : 40mm

mc—-HooOoOmr

A2 2E=AH (mm)
@20 : 25,50,75,100,125,150
@251 25,50,75,100,125,150
@32 1 25,50,75,100,125,150,200
@40 : 25,50,75,100,125,150,200,250

TCP1
APM
TCM
TCM2
@ AtZige| o|HZE=o0] sl F
EEF|M 2K
o =2 3|M UK J= AM2
@20, @25 +0.8°,032,040— +0.5°
. _ TCA2
o TI:ITFE AI"gjl'E —
@ EFAZIL Bt Z X[ ;gg;
@ LEAR|X|S| BATLS —
ARIC|o| 7 9IX| Z1B0| ZHTHsE QEAQIX|S Rt 2z | TC02
Frssict ADQ2CP
HA 7S AQ2
171 ADQ2
ChE MY 23y —
AQ3
[TCK1
TCK2
ACK1
=a=JAl ABK
T i gﬁ' ABK2
TCM2K (L) 32 —(150/(S)— (C73K) ()
o] 60
RE=HIAL =X} = H I Iz H %
S CHERMXE Taxlxlm__ll/_r‘EEJ :'-
T:HESNEY TGM2
# TIEL: 27| 20] S5 T S 5012 (mm) 20 25 ‘ 32 40 TG
Azl B0 ofaf £7I —
=71 20 elof ofsf =X HEYBEEZT | TOM-L020B | TCM-L032B | TCM-L040B APR
LI ol 2fs 1 Zx 2T TCM—F020B | TCM—F032B | TCM—F040B
QEAZX =2 14238237 | TCM—-C020B | TCM—C032B | TCM—C040B | TeRL
SN LEARIX| Al A _ _ _
e o o 2AFZRH|AZT| TCM-D020B | TCM-D032B | TCM—D040B
C73K : D-C73K E2{LI2({EFA)ZT| TOM—TO20B | TCM—T032B | TCM—-TO40B | AMR
¥ 2|=M Z0[= 0.5m(E=)0ICE 3me| _ . —
im0 S o) i ¥ EES LR 5260 20} 51 gL —
0f) C78KL: D-C73KL AMRBR
7 SEARIK 2715 DEALIR| BAINE/2Z Zed N
275 R NBP
S 1HEE B
n nZfEE QLEALQX| FELHZA (mm) ADR
g4 20 25 32 40
_ . . . . ASL
D-C73K TBM2-020 | TBM2—025 | TBM2-032 | TBM2-040
NDC
NDM
113

www. TPCpage.co.kr



TCM2K Al2[=

o AtZIEo| O[HEE0f 25t Al
235 YAl
S2LHZ (mm) @20 @25 @32 @40
_ K= HFAL tCIEX K| « CHESX|
e ERpY + RUBBERZM (BEFH)
@20, 25~ +038 He7 RoPT)1/8 Ro(PT)1/4
@32, @40 - £0.5° NEos Aol
(I FEE2EALIX/D-CTIK
® =7 A E0| 7Is
o EXMRIC B4 S A5
- s p L HE=ALRF
@ LEAQX|S BEEUI=
A2l #HLAX| HEO| ZHHEH pIELTN CHE F R ‘ CHE B
QEALQIX|Z BRlsl= 2T JHs5iC), csd wrEE @20, @25 +0.8°
@32,340 +£0.5°
ALE FA| 3 7
HEL{ok= 1.5MPa(15kgf/cm?)
Z DA 1.0MPa(9.9kgf/cm?)
| K AHE 2 0.18MPa(1.8kgf/cm?) | 0.23MPa(2.3kgf/cm?)
FRez U ASRART —-10C ~ +70C
EEMEEYS g
= 7 SLR(FSH)
LIALS R} KS 22
|2, SWE FEY, EEF EUXE,
sixrsA =& EUXY, 14 SaHIAY, 24 2YH|AH,
SEX EfLR2Y, 2EX EBL 2T,
ZajH| A UHE, COMPACT( AT E)S

2L (mm) 20 | 25 | 2 [ 4
ABIAELSE (mm/s) 50~500
sgesolRikgt—om) | 27 | 4 | es [ 12

T ST
QEAQIR| Tty CEREET SHE 2EALA
HH = 2 S O2HE D-C73K

114




EcsiMux|g/as : #E.2x1 TCM2K Al2[X
HEEA O Hax TCP1
— APM
o EE | At
TSE =P C 1 =, = =
o eag [z ol gyu2 1042 [ 2048 [qoM
e HE | 4HE gn | zolE | molE L
7|28 o) O - @) O TCM2
=Ehoh e O(2) O - O O e —
2oE =AY o) O - O 0 ARD
=S EUXE o) O - O O
ERTENETE - 0 - O O AM2
14 22| A - 0 - o 0
o4k 2aH| A - O O O o TCA2
SIEX ELR2E o) (@) - O O TCS1
=E= a2y o) 0 - O o 762
COMPACT(EAFHE) 7|28 o) O - O O TCQ2
COMPACT (& ﬁiE)%iﬂ‘ xE o) O - O O e —
COMPACT(2AZE)ER|L|2F o) O - O O ADQ2CP
H 0 o2 Xk —
AQ2
ADQ2
z2tu A8
TCK1
A/ e $70| AL ko [TCKZ
FEUZ (mm) 20 25 32 40 ACK1
2537 021(020) | 0310030 | 0.430.41) | 0.78(0.75) ————
5037 0.2300.21) | 0.34(0.33) | 0.48(0.45) | 0.86(0.83) ﬁg&z
7537 0.29(0.25) | 0.43(0.41) | 0.610.56) | 1.08(099) —————
712 | 1003 0.310027) | 0.47(0.44) | 0.660.60) | 1.14(1.06) | NSK
2 | 105y 0.38(0.33) | 056(0.52) | 0.81(0.73) | 1.34(1.23)
150847 0.39(034) | 050(055) | 0. 85(0 7 | 130031 | 160
2003475 -(=) -(=) 04093 | 1.7100.54) [ NGQ
25083 -(-) -(-) —(-) | 200079 [ NGQMPRY
=y 0.15(0.15) | 0.16(0.16) | 0.16(0.16) | 0.270.28) | TGM2
EEE 0.06(0.06) | 0.0900.09) | 0.09(0.09 | 012012 L1G
14 2| A 0040.04) | 0.04004 | 004004 | 0090.09 | APR
oy | 2 FAI2E 0.05(0.05) | 0.06(0.06) | 0.06(0.06) | 0.13(0.13)
o |=siuee 0.04(0.05) | 0.07(0.07) | 0.070.07) | 0.100.11) | TCRL
S | zyH2 N —~0.02(-0.02)|~0.02(~0.02)|-0.01(~0.01)| ~0.04(~0.04)
COMPACT(ZAZIE)7[=&@  |-0.01(~0.01)|-0.02(~0.02-0.02(~002)|-0.03(~0.03) | AMR
COMPACT(ZAZE)Z#AE | 0.05(.05 | 0.07(0.07) | 0.07(0.07) | 0.09(0.09) AMRER
COMPACT(ZAZE)EHLISY | 0.03(0.04) | 0.05(0.05 | 0.05(0.05) | 0.07(0.07)
XA |14 HER0E 0.06(0.06) | 0.06(0.06) | 0.0600.06) | 023023 |NP
apl | oM U2 ZOIE(@SA) | 0.07(007) | 0.07007) | 0.07007) | 020021 L(NBP_
ADR
ASL
NDC
NDM
115

www. TPCpage.co.kr



TCM2K Al2[=

ZolALEH

B HEE FeAret - 2382 AB Jt5 BRI 2R3 A0 HER 15(1S0
MBSO BHEA| SRBIAITD, QY RN U BE FOIATE VGIAE MBS FLN2.
EHDSHIAL. . THEO| AR, Azl Bloj ofs TAE A 2517t HE|T 2 st
AHgar e mal FAAR.
NE=N
« DAEZC0| NMEIS Jfots A2 M) FAAL SEHIEA|
S| EX| J10| E7} B at0] 3| ekR| HE=7F 3A Fuch CIAERE BOO| LIAMRY 2L HES MZY 0, IAERET}
S|MET0| 5 2HL0] THelAM = Ol ES A EaH FAAL. A ZEIR| QIS MEHZ 50, REBMEO| SEHE0| AIHE
_ N9 FAAIR. &, ouf 31 E37} S|HELX| 70| S0 FHKIX| Q=
S E3™MET @20 225 32 240 510 MZS 510 FAAR
kgf - cm 2.0 25 25 45 CHIRE = TR TEE 2U|2 225 Z2AS S HAH AN,
- DAEREO| 5152 SHA ZUIBIO 2 2l ME| 2 ALSH
FHAL.
TEE/RELIST
HME 20 GEAOEBDOOOOO® OVOOOCIOD O & ® ®
oo -e—a—o-
; —— — 1 | | | ﬂ
s —il] |
COMPACT(2AZIE)Y  Zajlu|~ LA
=] 225 ®0DBROBBODDODO [3XOXi6) 0D 2] ® ®
=i
HELIST
He 2Eg I H 3 Hs 2EQ M A H 2
0 |2c=7H L=0|gEE SHAHOFEOI0| E ® |DAMPERA <Sa|E
S| EFHH A AZ0lEE= SHAHQL2O}O| E ® |DAMPERB Eell=y
S=7{H B o=n|Esz | wAgzno|E ® |=z2 EAZPY
=718 —C USO|EEE | WAARO0|E © |DA=Emz NBR
I REEEE A AZE © |DAEIAA NBR
0 |m2rE Ud=0|E82 EENNE @ |WEARRING + x|
@ |mAE=C AHIAZ @ |=czoiyE Etazt Az
0 |3Fwx|It0|= P ® |BUSH
Q |HZAAM UALT L=
0 |28 rzg IR EEELTE
AIa| = ot2|sst = =/ sl
0 |2zZgro= L0 ERE A=mol= SPARERZ/WEEE
O® |2zZXX|cY U=0)EEE EENHE
® |1EemAsREY] sH3= 2t ENNEEEE " sz . F2HZE (mm)
H 5 IO PN
® |23 SAZTY Laca 2|FES | M T [ s |
® | 23522 BUSH AZBFES ® |=CS0iZ | NBR | SORA-10 | SORA-10| SORA-12| SORA-16




2csMuxsy/os : 8x.258 TCM2K Al2[=
7128 (B) e

TCM2KB #y) 3 APM
TCM

& TCM2

o ARD

E % Z AM2

CINA TCA2

o
5
@
[ES
RS
ES
=
o
s
(e}
| T
El=
o
2-DEN8 \

E
e
B

Izﬁ D B

SRR AT - TCS1
(SRILT+2x 3 7) Tcs2

TCQ2

ADQ2CP

COMPACT(EAHE)E ﬁg(le

AQ3

TCK1
TCK2

A i i ACK1

5 ‘ ' i [ZaN ABK
ABK2

(BRLT+2x 3H) NSK
TGQ

NGQ
NGO
TGM2

TG

¥ = E0S 2 ZFIA0|CH (242l : mm) APR
S=UE] A | AT | B | B D E | F H o[ H I K MM [ N[NAT NN TP
20 |18 [155[13 26 |10 2% | 20 O 0| 13 #1 8 |27 ] 8 00 | m8x1.25 | 15 [ 24 | M20x15 | 1/8 TCRL
25 |18 (195|117 |32 |10 300 | 26 % 5| 13 45

8 | 33| 8 %0 | M8x125 | 15 | 30 | M26Xx1.5 | 1/8

5

6 —0.05

45| 6 | 8 |37.5/10 291 | M10x1.25 | 15|34.5| M26x15 | 1/8
8

®|®| o ®

32 | 22(195| 17 |32 |12 3% | 26 % .| 13 AMR
40 |24 |21 |22 |41 |16 001 | 32 Qpee| 16| 11| 50 10 [46.5|14 591 | M14x15 |21.5(425] M32x2 | 1/4 AMRBR
rrE——— - NP
WHE X8 (9] : mm) COMPACT(EAZE)Y (&9 : mm) NBP
| 150 | 514100 | 101150 | 151~200 | 201~250 8| 1-50 | 51~100 | 101150 | 151-200 | 201~250 ADR
208 [l [0 || || e[ e [ur NS LT LT LT LT
20 |87 141 [112]166|137 191 | = | = | = | - 20 128 153 178 - - ASL
25 |87 [145 [112 | 170137 |195 | — = | = 25 132 157 182 = = NDC
32 |89 [147 |14 172|139 |197 | 164 222 | - | - 32 134 159 184 209 -
40 | 113 179 |138 | 204 | 163 | 229 | 188 | 254 | 213 | 279 40 163 188 213 238 263 NDM
17

www. TPCpage.co.kr



TCM2K Aj2|=

SUAFEAL)

TCM2KL #n) 9
HTH CHe B,
A
B [TAT HF2 S aca) Ro(PT)P G F_ 2-NN
—_— T .
i a‘h H TN
3 AN @)
a _ ire |
7] ~ 2-@LD )
S 1] P
MM - 4BIEONA N y t
“/ 1T il TIT
IAERE Sy [m ey M Sy 0
CHH S AF FAT LS+3HH T’J
= ee FA+ES
¥ 2 TH2 2E FTAO|CH (SH2l : mm)
SelH| A [AT|B |Bi|B:| D |F|G|H|[H |H:| 1| K |LCILD|LH|[LA[LK|LM[ MM [N|NA| NN |P|X|Y|T
20 |18 |155(40|13]26 |10 0|13 |8 |41 |5 |8 |27|8 0|4 |6.8|25|3.2(40| 55| M8x125| 15|24 | MNX15|1/8|20| 8 |21
25 |22 |195(47 |17 (32|10 01|13 |8 |45|6 |8 |33|8 00| 4 |6.8(28|3.2| 40| 55| M8x125| 15|30 | M%X15 |1/8[20| 8 |25
32 |22|195(47 |17 (32|12 20113 | 8 |45 |6 | 8 |375(10 00| 4 |6.8/28|3.2| 40| 55 | Mi0x125 | 15 |345| M%X15 |1/8]20| 8 |25
40 |24 |21 |54 | 22|41 |16 D016 |11 |50 | 8 |10 |465|14 00| 4 | 7 |30 |3.2] 55| 75| Mi4x15 |215] 425 M32x2 | 1/4| 23|10 |27
HHH X|+H (&9 = mm)
2 1~50 51~100 101~150 151~200 201~250
sl G (s | T [G| s |T |G LS| T |G|Ls|T|a] s [T
20 |87 |127|156 | 112|152 (181 [ 137|177 |206| — | — | = | = | = | -
25 |87 | 127|160 | 112|152 (185 [ 137 [177 (210 — | — | = | = | = | =
32 |89 | 129|162 | 114|154 (187 | 139|179 | 212|164 | 204|237 | — | — | —
40 113 | 159 | 196 | 138 | 184 | 221 | 163|209 | 246 | 188 | 234 | 271 | 213 | 259 | 296
SI=ES ERHXI™(G)
TCM2KG 8y ?
B M NN g ReTP Re(PT)P s e
I\ LY i Al
8 &l —38 %H
M « O H
grEze MM _ﬂ I35 Y #=EA R -
SR Al LFLN .
FEH Lo+atd il
AT+
(FRT+2xWY) MELT+8Y
w2 M2 25 FXIA0|CH
SSiZ[A [AT[B B/ [B: [C.| D E [F[[FT[K]FLIFMIG [H [H R [ 1] K MM [N [NA[ NN [P
20 |18155(34 [13 (26 (30 | 10 31|20 013 | 7 |4 | 60| — [75|8 [41 |5 |8 |27| 823%| MBx1.25|15 | 24 | Max15 |1/8
25 2219540 |17 |32 |37 | 10 381126 %yq13 | 7 |4 |60 | — |75|8 [45|6 |8 |33| 8255 Mx125|15 |30 | M%x15 |1/8
32 2219540 |17 |32 |37 | 12 381126 %313 | 7 |4 |60| — |75|8 [45| 6 |8 |375] 10 295 MI0xX125| 15 |345] M%x15 |1/8
40 |24 (21 52 |22 |41 [473] 16 3832 %300/ 16 | 7 |5 [ 66|36 (82|11 |50 | 8 [10 [465] 14 Z5%| Miax15 [215]425] M3ox2 |1/4
SHAMY X8 (B2l : mm)
& 1~50 51~100 101~150 151~200 201~250
s EG [T [T |G| T T |G| T |T|LWG| T | T |G| T LT
20 |87 [ 132|141 | 112|157 |166 | 137|182 191 — | — | = | = | - | -
25 |87 | 136|145 | 112|161 |170 | 137|186 |195| — | — | = | = | = | -
32 |89 | 138|147 | 114] 163|172 | 139|188 | 197 | 164 | 213|222 | - | - | -
40 |113 [ 168|179 | 138] 193|204 | 163 | 218 | 229 | 188 | 243 | 254 | 213 268 | 279




2csMuxsy/os : 8x.258 TCM2K Al2[=

EEEETRETG) TePr
TCM2KF #y) § AP
TCM

TCM2

Re(PT)P Re(PT)P G NN ARD

F AM2

\Tj
&
hd
B
|
|
@EN8
[]]

FK A FT 4B ENA A

— . TCS1
Lo+ TCS2

Eara) EEIET]
@402 &2 @20~3229| &=L FalTx@s)

i JL TCA2
F

FM

TCQ2

ADQ2CP

AQ2
ADQ2

AQ3

COMPACT(EAZIE)Y TCK1
( ) TCK2

ACK1

s?%@ E& > ABK2
M Lol S

NSK

HELT+HE
CHOI S A ' [ERRETE))

TGQ

NGQ

NGQ Y
TGM2
T6

% 2 Z0ie 2c SXAjolc, (9] - mm) APR
SS5LE| A [AT| B [Bi|B:[C.| D E |F|F
20 |18165(34(13]26 (30 [10 2555120 & el 13
25 |22(195(40(17 32 [37 [10 205126 % el 13
32 |22(195]40(17 |32 |37 [12 255126 & .13

6

= 0
40 |24 (21 |52(22 |41 |473(16 2351132 S o

FK| FL |FM HIiH|H| 1| K | MM [N|NA| NN |P|T
4 27| 82501 MBx125| 15| 24 | M0x15 | 1/8 | 37 L
45 33| 8250 MBx125 | 15| 30 | M26x15 |1/8] 41 AMR

45 8 375/ 102251 Mi0x1.25| 15 | 345| Me6x15 |1/8 | 41

50 10| 465| 14 200 M14x15|21.5| 425| M32x2 [1/4] 45 AMRBR

TCRL

—

—

60| — (75
60| — |75
66| 36 | 82

—

~N N~ N
(S 1 SN N N
o
S
|
-
o
| | | ®
|l oo o

—
—
—

- T = NP
Y X4~ (491 = mm) COMPACT(EAHE)H (42 mm) NBP

oge
00X
oge
0X|

1~50 51~100 | 101~150 | 151~200 | 201~250 1~50 51~100 | 101~150 | 151~200 | 201~250 ADR

SN |LG [ LT |LG | LT| LG | LT |LG | LT |LG | LT CET ) { LT LT LT LT LT ——
20 |87 141 |112] 16| 137|191 | = | = | - | - 20 128 153 178 - - ASL
25 |87 |145|112 | 170| 137|195 | — = | = 25 132 157 182 - -
32 |89 [147 |114 | 172] 139|197 |164 |222 | — | - 32 134 159 184 209 -
40  |113 [179 138 | 204| 163|229 | 188|254 | 213 | 279 40 163 188 213 238 263

)
tol
Foly

NDC

NDM

119
www. TPCpage.co.kr



TCM2K Aj2|=

14HS2{HIAE(C)
3 S
TCM2KC #Y) 7
@D
des o HLONN RCfPT)P_ Re(PT)P R
B2 Hz N
AT aE ﬁ%
: | | 7 ) 4y
b = =
MM AT 1.5 L Jexe.
IAEZEE A F LN N w CNA
CHHS A RAH LG+ 1 L
(ZRH+#H) HAT+HYT (FAT+2X W) RR
HEULT+AE (FHLT+2XHT)
¥ = e 2E SXIAo]ch (=2 - mm)
FELHE| A |AT | B | CD|CX D E F H | H | | K L MM N |[NA| NN P |[RR|W

—

27 | 8 —005|30 | M8x1.25 | 15 | 24 | M20x15 |1/8| 9 |14

25 |22 h95/17] 9 [10 |10 5% 26 %ol 13 45 33| 8 30|30 | Mex125 | 15 | 30 | mosxi5 [1/8 | 9 [14

G
20 [18 155/ 13| 9 |10 |10 58] 20 Syossl 13| 8 | 41
8
8

32 |22 [195/17 | 9 |10 |12 50s| 26 %ag 13 45 37.5] 10 —005| 30 | M10x1.25 | 15 | 345 | M26x15 [1/8 | 9 |14

o || ;

40 |24 |21 |22 | 10|15 |16 “00L) 32 Oyos| 16 [ 11 | 50 46,5 14 0L 39 | Mi4x15 215 | 425| M32x2 |1/4 |11 |18

& 1~50 51~100 101~150 151~200 201~250
Sl | T |G| T| || T |6 | T m|e| 1L
20 87 | 158167 | 112183192 | 137|208 |217| — | — | — | — | — | —
25 87 | 162|171 | 112|187 196 | 187|212 | 221 | — | = | = | — | — | —
32 89 | 164173 | 114189198 | 139 | 214 | 223 | 164 | 239|248 | — | — | —
40 [113 | 202|213 | 138 ] 227|238 | 163 | 252 | 263 | 188 | 277 | 288 | 213 | 302 | 313

241 22{HIAS(D)

TCM2KD #y) 3

GCDrio"
CHE BT Hi NN G Rc(PT)P Rc(PT)P G
N ] =
T I —
) s == i | i ik g
s L - : \NY
MM AT __L‘1_5 N W
A F ol
HEH L
(ETH+E) Al
2 EHe 2 $EIA0[oh (&2 + mm)
FELZA| A |AT | B |CD|CX |CZ D [E = H | Hi| | K L MM N | NA NN P |RR| W

G
20 |18 155013 | 9 [10 [19 |10 2% |20 %oees | 13 | 8 |41 | 5 |27 | 8 980 | 30 |Mex125 | 15| 24| Meox15|1/8] 9 | 14
25 |22 [19.5/17 | 9 |10 [19 |10 2585 |26 %oss| 13 | 8 |45 | 6 |33 | 8 209 | 30 [M8x125 | 15| 30| M26x15 | 1/8] 9 | 14
32 |22 [195[17 ] 9 |10 [19 |12 58] 26 %o | 13 | 8 |45 | 6 [37.5/10 35% | 30 |M10x1.25 | 15 | 35| M26x15 | 1/8] 9 | 14
40 |24 [21 |22 ]10 |15 30 |16 253 |32 Soose| 16 | 11|50 | 8 l46.5]14 3L | 39 [mt4x15 |215] 425] max2 | 1/4| 11 | 18
%OHKO'I% il¢£ (2] : mm)
B 1~50 51~100 101~150 151~200 201~250

s 8liG | T |G| Tl T |o|lww| T|lofwe| 170
20 87 | 158|167 | 112183192 | 137|208 | 217| — | — | = | — | — | —
25 87 162 171 | 112187196 | 137 (212|221 | — | = | = | = | = | —
32 89 | 164|173 | 114189198 | 139|214 | 223 | 164 | 239|248 | — | — | —
40 (113 | 202|213 | 138 | 227 | 238 | 163 | 252 | 263 | 188 | 277 | 288 | 213 | 302 | 313




EES|MUR|S/CHE ; MF. S

[ b

TCM2K Aj2|=

ECX ERLIRE(V)
TCM2KU oy

0.025
0.061

@TDe9Y:

aTL

S
T

NN

TCP1
APM
TCM

TCM2

ARD

|
|
Il
i
@Ens
4]

AM2

TCA2

A T 4HZ[INA

He ) LT+

HEH LGram
Il

(FALT+A#F)

COMPACT(EAZE)H

HHLT+E

(FXLT+2xH H)

TCS1
TCS2

TCQ2

ADQ2CP

AQ2
ADQ2

AQ3

TCK1
TCK2

ACK1

ABK
ABK2

NSK

TGQ

NGQ

NGQ Y
TGM2
T6

APR

B

H | Hi| | K MM

N

NA

NN

P | TD

TT [TK | TL |TM | T TCRL

26

10 —0.01

—0.05

0
20 —0.033

M

2718 50| m8x125 | 15

24

M20x1.5

10132 32|52 |36

32

—0.01
10 —0.05

0
26 —0.033

45

33|18 95 M8x1.25 |15

30

M26%1.5

10 (40 | 40 |60 | 40 AMR

32

—0.01
12 —0.05

26

0
—0.033

_.
w
® ||| ®

375/ 10 Z908 |M10x1.25| 15

345

M26x1.5

10 [ 40 | 40 | 60 | 40

4

—0.01
16 —0.05

0
32 —0.039

=
[}
—
J—

(e BN NN NN

465| 14 01| M14x15 |215

45

M32x2

11 |53 | 53 |77 |45 AMRBR

2| : mm) COMPACT(Eﬁi"E)%

NP
(E+9] : mm) NBP

51~100

101~

150

8
o
g

LG

LT | LG

LT

1~50

51~100

101~150

151200 | 201~250 ADR

Tor

LG | LT el

LT

LT

LT

LT LT

112

166 | 137

191

- | - 20

128

153

178

ASL

112

170 {137

195

= | = 25

132

157

182

NDC

147

114

1721139

197

164

222

134

159

184

209 -

113

179

138

204 | 163

229

188

254

213 1279 40

163

188

213

238 263 NDM

121
www. TPCpage.co.kr



TCM2K Aj2|=

SI== ErLi23(T)

= SR S
TCM2KT #Y) 7
Re(PT)P G 8
G BT HI M“\ S ez RoPoP S
S EEad = K
s ! A g :
o 8 B Ji— - ct /=
Q <11
MM AT 15 =
K — A F’LN_ ASELNA N m
IAEZC ZEIH LG+#% T
Ci sl GAn+33 T HE G AT 28
s=ee AT+ (SR +2X HE) "
(=2 : mm)
ESUA|A |AT|B |B.| D E FIG|H|H]|I K MM |N|[NA| NN [P [TD|TT|[TK|TL |T™
20 |18 15513 [26 | 10 331 |20 %0as| 13| 8 |41 | 5 |27 | 8 38| M8x1.25 | 15 | 24 | M20x15|1/8| 8 | 10| 32 |32 |52
25 |22 19517 [32 |10 331 |26 %033/ 13 | 8 | 45| 6 |33 | 8 Z3:8%| M8x1.25 | 15 | 30 | M26x15|1/8| 9 | 10 | 40 | 40 |60
32 22 19517 |32 |12 2388 126 %0ss| 13 | 8 | 45| 6 |37.5] 10 Z38L |M10x1.25 | 15 | 345 | M%6x15|1/8| 9 | 10| 40 | 40 | 60
40 |24 |21 |22 |41 |16 “§8 |32 %05 16 | 11 |50 | 8 |46.5| 14 “G81| MI4x15 |215 | 425 | M32x2 [1/4] 10 |11 | 63 |53 |77
SHAH X|4~F (E2l:mm)
= 1~50 51~100 101~150 151~200 201~250
s g | T|ww|wGe| T Tl t|wolwe| 1L
20 |87 | 133|143 | 112| 158|168 | 137|183 |193| — | — | — | — | — | —
25 |87 | 137|147 | 12| 162|172 | 137|187 |197| — | — | = | = | — | —
32 |89 [ 139|149 | 114| 164|174 | 139|189 | 199 | 164 | 214 | 224 | — | — | —
40 113 | 1685|179 | 138 | 1935|204 | 163 | 2185 | 229 | 188 | 2435| 254 | 213 | 2685 | 279
i~ 22X (E)
TCM2KE (EEUZA )—(3ts) S
= T MELT+H (FRLT+2XBT)
AT+ (FRT+2 X HT)
HZH LG+3H
FARTEE) N o VA
( A + F) ‘ - @CDri0 X
AT
] =a ] &
T - —
. L TP
P o g ot e - s
2 s/
Lv
NN L5
(22 mm)
D E |F|G|H|H| 1| K |LIWw| MM |[N|NA| NN [P |RR|W
10 233520 % 13| 8 |41 | 5 |27 | 8 Z83| 12 [18.4) M8x125 | 15 | 24 | M0x15 [1/8 | 9 |115
10 890|126 % oas 13| 8 [ 45| 6 | 33| 8 =331 12 [18.4) M8x1.25 | 15 | 30 | M%x15 [1/8 | 9 |115
12 3901 26 O gaq 13| 8 |45 | 6 [375(10 2388 |15 | 28 | M10X1.25 | 15 |345| M26x15 [1/8 |12 |145
16 2391 | 32 Oyqge) 16 | 11 |50 | 8 [465(14 2381 |15 | 28 | M14x15 | 215(425| M32x2 |1/4 |12 |145
YW X|+H (=491 = mm)
% 1~50 51~100 101~150 151~200 201~250
J|E
e llg [ TG T[T |G| T | T|G] T[T|G] T[T
20 |87 | 140|149 | 112]165[174 | 137|190 199| — | — | = | = | = | -
25 |87 | 144|153 | 112] 169|178 | 137|194 203| — | — | = | = | = | =
32 |89 | 149|161 | 114| 174|186 | 139|199 | 211 | 164 | 224|236 | — | — | —
40 |113 | 178|190 | 138| 203|215 | 163 | 228 | 240 | 188 | 253 | 265 | 213 | 278 | 290




